
G2 UPDATE KITG2 UPDATE KIT
John Deere 7000 / 7100 / 7200 / 7300

SCHAFFERT MFG. CO., INC.  	 308-364-2607 or 800-382-2607

71495 rd. 397 ∙ indianola, ne 69034 ∙ 308-364-2607 or 800-382-2607 ∙ fax: 308-364-2410 ∙ sales@schaffert.com ∙ www.schaffert.com ∙ 15 mar 2019

Before working on your planter or drill
DANGER: When storing or working on the planter always install cylinder stops or place the planter on stands to prevent personal injury or damage to the attachments.
PLEASE: Read instructions completely and verify all package contents before beginning installation

JD 7000 / 7100 JD 7200 / 7300
PART PHOTO PART # QUANT. PART PHOTO PART # QUANT.

P86763(1) 1 P86763(2) 1

P64237 1 - - -

P55143 1 P55143 1

P2204B 2 - - -

P74643 1 - - -

P48430 2 P48430 1

- - - P55888 1

02060270 
(5/8" x 3-1/2" wheel bolt) 2 02060270 

(5/8" x 3-1/2" wheel bolt) 2

14030073 
(5/8" lock nut) 2 14030073 

(5/8" lock nut) 2

M12 x 1.75 . 50 bolt 2 M12 x 1.75 . 50 bolt 2

M12 lock nut 2 M12 lock nut 2

  
1/2" ZIPPER SPACERS

(5/8″ x 7/8" x 1/2″ bushing) 2   
1/2" ZIPPER SPACERS

(5/8" x 7/8" x 1/2" bushing) 2

 
1/4" ZIPPER SPACERS

(5/8″ x 7/8″ x 1/4″ bushing) 2  
1/4" ZIPPER SPACERS

(5/8" x 7/8" x 1/4" bushing) 2

Press wheels with 5/8″ bore bearing 
(sold separately) 2 - - -

OVER ▬►



G2 UPDATE KITG2 UPDATE KIT
John Deere 7000 / 7100 / 7200 / 7300

SCHAFFERT MFG. CO., INC.  	 308-364-2607 or 800-382-2607

71495 rd. 397 ∙ indianola, ne 69034 ∙ 308-364-2607 or 800-382-2607 ∙ fax: 308-364-2410 ∙ sales@schaffert.com ∙ www.schaffert.com ∙ 15 mar 2019

Before working on your planter or drill
DANGER: When storing or working on the planter always install cylinder stops or place the planter on stands to prevent personal injury or damage to the attachments.
PLEASE: Read instructions completely and verify all package contents before beginning installation

Before installing the JD 7200 & 7300 
series tail upgrade, you need to use a die 
grinder on the sheet steel sides of your 
row unit so that the ears on the eccentric 
will go into the unit.

7200 / 7300

7000 / 7100


